VALVE ANALYSIS RESISTORS Values
G.E.C. - TRF3 (ohims)
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CIRCUIT ALIGNMENT

With the gang at minimum; the pointer
should cover the zero mark at the low
wavelength end of the scale. If it does
not, remove chassis from cabinet and turn
‘the clip bedily round its spindle to the
correct position.

MW.—Switch set” to MW, connect
signal generator via a dummy aerial to A
and E sockets, tune to 214 m on scale,
advance the gain control well towards
maximum and the reaction control as far
as possﬂ)le short of oscillation. Feed in
a- weak 214 m (1,400 kefs) signal, and
reduce it if necessary so that only a
moderate output is indicated, then adjust
C15 and C13 for ma.xmmm ouhpub retard-
ing reaction if necessary from time to time
‘to avoid oscillation.

Tune to 300 m on scale, feed in a 300 m
(1,000 ke/s) signal, and turn the réaction
control {0 minimum.
the point where oscillation commences,
then give it one complete turn,in the
oppos:te direction.

ments, but a check ‘should be made over
the whole scale on both wavebands to see
that oscillation -occurs nowhere when the
reaction control is at minimum.

Now adjust C17 to -



